

USB 3.0 to Gigabit Ethernet NIC Network Adapter - 10/100/1000 Mbps, Black

MODEL NUMBER: U336-000-R











USB 3.0 Gigabit Ethernet adapter connects your laptop to a wired Ethernet network for 10/100/1000 Mbps data transfer speeds.

Features

USB 3.0 to Gigabit Ethernet Adapter Connects You to a Wired 10/100/1000 Mbps NetworkThis USB 3.0 Gigabit Ethernet NIC network adapter instantly connects your computer, laptop, notebook, MacBook, Ultrabook or Chromebook to a 10/100/1000 Mbps network through a USB port. No internal Ethernet card is required. Just connect the built-in USB plug to your computer, and use a Cat5e/6 cable (sold separately) to connect the RJ45 end to a wired Gigabit Ethernet network. This network adapter is ideal for use in areas where Wi-Fi is unavailable or a wired connection offers faster speeds.

Compliant with State-of-the-Art USB 3.0 SpeedsBecause this Gigabit Ethernet adapter complies with USB 3.0 (5 Gbps) specifications, you are ensured true 10/100/1000 Mbps network speed without a compromise in signal quality.

Plug-and-Play Operation Lets You Begin Transferring Data Almost ImmediatelyNo external power is required. Just connect the adapter to both your computer and an RJ45 Gigabit Ethernet port for network access without the need to find an AC outlet. The lightweight unit is easy to carry in a pocket, purse, backpack or laptop bag for instant file transfers where needed. It's compatible with Windows, Mac and Linux.

Manufactured to Exacting Standards to Ensure a Full Ethernet Experience This USB 3.0 Gigabit Ethernet adapter complies with IEEE 802.3 (10Base-T), 802.3u (100Base-TX), 802.3ab and 802.3az (Energy Efficient Ethernet) standards. It supports full- and half-duplex operations, suspend mode and remote wakeup via link-up and magic packet. Diagnostic LEDs indicate when you are connected to a network and when data is being transferred.

Highlights

- Connects your laptop to a
 Gigabit Ethernet network when
 Wi-Fi is unavailable
- Supports true 10/100/1000
 Mbps Ethernet network speeds for fast downloads
- USB 3.0 compatibility allows large data transfers with no compromise in signal quality
- Diagnostic LEDs indicate when you are connected to a network and when data is being transferred.
- Plug-and-play operation allows you to set it up and begin using it immediately
- Small enough to carry in a pocket or purse for fast file transfers anywhere

Applications

- Connect to a wired Gigabit
 Ethernet network in an office,
 trade show booth, lecture hall,
 classroom, hotel lobby or
 auditorium
- Extend the life of a legacy laptop or notebook computer with a failed internal Ethernet card
- Play network gaming consoles in areas without Wi-Fi capability

System Requirements

- IBM-compatible Pentium 233
 MHz or faster PC or Mac
- 64 MB RAM or more
- USB-A port (USB 3.0 port required to achieve USB 3.0



speeds)

 Windows (XP through 10), Mac (10.6 through 10.12) or Linux Kernel (2.6.25 and later) operating system

Package Includes

- U336-000-R USB 3.0 to Gigabit Ethernet NIC Network Adapter,
 Black
- Driver CD
- Quick Start Guide

Specifications

| OVERVIEW | |
|---------------------------------|--|
| UPC Code | 037332174925 |
| Technology | Cat5/5e; Cat6; USB 3.0 (SuperSpeed); USB |
| INPUT | |
| Bus Powered | Yes |
| Product Length (in.) | 7.5 |
| PHYSICAL | |
| Color | Black |
| Cable Jacket Rating | VW-1 |
| Material of Construction | ABS, PVC |
| Shipping Dimensions (hwd / in.) | 0.79 x 4.72 x 3.94 |
| Shipping Weight (lbs.) | 0.09 |
| Unit Dimensions (hwd / in.) | 0.6 x 2.6 x 0.9 |
| Unit Packaging Type | Вох |
| Unit Weight (kg) | 0.03 |
| Unit Weight (lbs.) | 0.06 |
| ENVIRONMENTAL | |
| Operating Temperature Range | 32 to 158 F (0 to 70 C) |
| Storage Temperature Range | 14 to 176 F (-10 to 80 C) |





| 10% to 90 % RH, Non-Condensing | |
|--|--|
| 1.7 BTU/Hr | |
| 0.5 | |
| | |
| 1Gbps | |
| 802.3; 802.3ab; 802.3az; 802.3u; 802.3x | |
| CONNECTIONS | |
| USB 3.0 A (MALE) | |
| RJ45 (FEMALE) | |
| Nickel | |
| | |
| USB 3.0 (up to 5 Gbps); USB 3.1 Gen 1 (up to 5 Gbps) | |
| Yes | |
| Cat5/5e/6 Cables | |
| Yes | |
| Yes | |
| Yes | |
| Yes | |
| STANDARDS & COMPLIANCE | |
| Tested to CE, FCC, RoHS, REACH | |
| WARRANTY | |
| 3-year limited warranty | |
| | |

© 2021 Tripp Lite. All rights reserved. All product and company names are trademarks or registered trademarks of their respective holders. Use of them does not imply any affiliation with or endorsement by them. Tripp Lite has a policy of continuous improvement. Specifications are subject to change without notice. Tripp Lite uses primary and third-party agencies to test its products for compliance with standards. See a list of Tripp Lite's testing agencies: https://www.tripplite.com/products/product-certification-agencies

X-ON Electronics

Largest Supplier of Electrical and Electronic Components

Click to view similar products for USB Cables / IEEE 1394 Cables category:

Click to view products by Tripp Lite manufacturer:

Other Similar products are found below:

68768-0173 FNY-W6003-01 88764-0800 148700-1 17-200621 17-250051P 954 17-200261 AC102012-1 AC102012-2 FTP-629Y601 451345-15 45-1358-15 45-1363-15 IP-USB1(C10)S-RW CABLE/RTP/USB/DT 45-1351-15 45-1357-15 45-1433-1 687680278

USBFTVX2SA2N03A USBFTV2SA2N03A USBFTV2SA2N05A MDM9PH004B MDM9PH004P FTP-629Y401 FTP-628Y302 FTP628Y402 CSMNB9MF-5 FNY-W6022 UA-30AMF-SD7B03 UA-30AMFM-SL7B03 USBAPSCC7202A 17-200641 UES-1001A160 UES1003A160 USBFTVX7SA2N20A USBFTV2PEMSA2N10A FTP-629Y602 USBCAMCM100 USB A/F*2 to 2.54 2*5P-SH L=400mm
68784-0075 MINI-SCREW-USB-DATACABLE 19800-010500-200-RS 103-1092-BL-F0050 103-1020-BL-00100 103-1092-BL-F0200 1031092-BL-F0100 105-1092-BL-00300 105-1092-BL-00200